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COMMERCE

(DBC 270) FINANCIAL MANAGEMENT AND
INDIAN CAPITAL MARKET

Time : 3 Hours Max. Marks : 70/80

Instruction to Candidates:

DTRPEROR BRUSRE:

1.

Students who have attended 30 Marks Internal Assessment Scheme will have
to answer for total of 70 Marks.
30 wo3ne 30308 BZIHRNG WA DIRPA 70 Bo¥ne B,Bnen ewgdresd.

Student who have attended 20 Marks Internal Assessment Scheme will have to
answer for total of 80 Marks.
20 08R% 0308 BHI0HQ LT JRHFNR 80 wo8ne IBnRen wwgdnesd.

Note: Present value and annuity tables are allowed.
SECTION - A aon -

Answer any TWO questions. 5 marks each. 2x5=10
BRRTRTTR STE BBAROR 10Z0R. F,303,0058A, 5 woBnw.

Write a note on weighted average Cost of Capital.
BONPEOZE ROVRO 0B 323 W £38,69 WTOWDO.

What is dividend? State the different types of dividend.
P03 ROTTERD? DDF S0 TOLWOBHI) 39

A project cost Rs. 80,000 and has scrap value of Rs. 10,000. Its income before
depreciation and taxes during the four years. If Rs. 20,000, 25,000, 27,000 and
28,000. Assume Tax Rate i.e. 50% and depreciation on straight line basis. Compute
the average rate of return for the period.

2,03 BARECH 03ReEIR Bn. 80,000 R3) ¥T Jea WSasw de. 10,000. YTV IRTY
33y 308 ZATOS 4 SRENY BraHy Te. 20,000, 25,000, 27,000 S 28,0007
SNSOZE. 3018 BOR) Be. 50 23 XTEL JeT 398 a*»zgéo&aoz:b $&AD. ZTIRO THBFS BURTY,
B0R&HROWD.

Write a note on component of Money Market.
BEOT RIDTBES,00 OB WA €363 WD,
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SECTION -B 2wn-»

Answer any THREE questions. 10 marks each. 3x10=30
BRJTREBL Fwedd BIROR wwBd. F,30800%8R, 10 wosneh.

Explain the Major factors that influences the dividend policy of a company.
FOWROD TOLPOBHIT), AGFORT B0, HOBNTRY, ATOA.

What is Financial Market? What are the classifications of Financial Markets?
TLITOAS mdoa‘% QOWTBeN? DEITAIS aimd:a‘%oﬂa ahreﬁdmﬁaﬂ% 231D,

Following data rates Balagi Company Ltd.

Sales 1,00,000 units @ Rs. 20 each

Variable cost @ 60% of sale

Fixed cost Rs. 4,00,000

Borrowed funds consist of 10% debentures of Rs. 10,00,000 from the above
a) What is operating and financial Coverage?

b) What is percentage of charge in EBIT if output increases by 10%?
88 3PN S0LHE03N ROV BOB DODTE, £e0T3.

S300t33) 1,00,000 S=yrish 3,8 IR0 8. 20.

LTSNS Ted [roown Be. 60 TR,

20 $23 8. 4,00,000

SERIR0T T Be. 108 T, 33,3 OB, 8w, 10,00,000

F0eOT W&EZWOT

(&) AVFBH ) BOTAT FFEDTY, B0BERWD.

(&) 2HRTING Be. 10 BRI W So3) 301 FeRES N3 (EBIT) 3e3@ansd 8w
VBT AR,

From the following information. Calculate the N.P.V of Two project and suggest which
of the two projects should be accepted.

Particulars Project x (Rs.) Project y (Rs.)
Initial Investment 20,000 30,000
Scrap Value 1000 2000
Estimated Life Syears 5 years

Profit after Tax but before depreciation (cash inflow) are

Year 1 2 3 4 5

Project x (Rs.) 5,000 10,000 10,000 3,000 2,000
Project y (Rs.) 20,000 10,000 5,000 30,000 2000
PVF @ 10% 0.909 0.826 0.751 0.683 0.621
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B FYAT BRLENPOT VR DHRE oSpenSny AFY T3r B0 B, (N.P.V) oY
TOT &R0 Torne 085e 03eBB0D tWwiyBegLiedond Boeda.

Write a note on SEBI.
SEBI o urj L3869 WBoN0.

SECTION -C ayen-a

Answer any TWO questions. 15 marks each. - 2x15=30
IRRYTRHSL SS> BIROR 3D B30200885, 15 SoBrh.

What do you mean by Money Market and Capital Market? What are difference b/w
these? :
BEOT RIDTOBES, T OB RITBE, D0WBED? WINS IBAR BIR 392

What is working Capital? Explain the determinations of Working Capital.
RN WOTRTE Q0EBeH? W3 QP TINL), DTOR.

A Client seeking your advice about a working capital requirements in the first year of
trading add 10% provision for contingencies.

Elements of Cost Rs.
Raw materials 80 Rs.
Direct Labour 30 Rs.
Overheads 60 Rs.
Total Cost 170
Profit 30 Rs.
Selling Price 200

Following Further information is available

<+ Raw materials is stock 1 month.

Credit allowed by suppliers 1 month.

Lag in payment of wages 2 weeks

Lag in payment of overheads 1 month

Materials are in process on an average for one month.
Finished goods are in stock for 2 months.

Cash in hand expected to be Rs. 25,000

You are required to prepare a statement showing the working capital requirement to

Finance a level of activity of 1,04,000 units.
R OB ©IBBI0DT, 88 PN BI0ESONTY BFOR. V) FOB dere3eoN Feos.

LA AR R

By DI 0. YOI wond,
Bes, TR, 80
3Rd 30
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oeen HY, 60
%3, ézg 170
(SptA] 30
RRoowd B¥S 200
B3 BUAS LTONEY, BRBUING.

23, BN, ORI - 20T Sonwrt

MO FOOL] FpT,ITT00T - 2,080 Sonrt
BOT LOmPE - 2 TORW

POTYTT0 B, 3,0300DOT 823, FoTN, - WOWD SONED
TPEDF BOITIT YV, WORRRD - 2 S0Med
303598 Bed - 25,000

A company has an investment opportunity costing Rs. 80,000 the net cash flow are
as under:

Year 1-5 6 7 8 9 10
Cash Rs. 14,000 16,000 20,000 30,000 20,000 8,000
Calculate :

(1) Payback period (2) NPU and IRP @ 10% and 15%
2,003 BOBIIN BRREFC BRFB BRODT. BLRED 523 dw. 80,000 303 Ae3P SN B0
3 3¥NToss.

R 1-5 6 7 8 9 10
R snwd (Sw) 14,000 3» 16,000 20,000 30,000 20,000 8,000

1. Teo TS VP S
2. NPU 3 0308 smoo oo (IRP) 10% 3583 15%

SECTION -D -8

Note: Compulsory question for 80 Marks scheme only.
BRUS: 80 ©208n¢ BBT3BR 20 Brod Y.

IV.

14.

15.

Answer any ONE of the following questions. 10 Marks each.
EENR SRFTRTETH woTH BN wIda. 1x10=10

Evaluate Profit Maximisation and Wealth Maximisation objectives of Financial
Management.

DEITORD AR DFD m@cﬂ o3 NO&RFTED T ROTES MOETTEIT YOREBNTTY, DaoTor 3B
TN TOeBA.

Define Financial System. Discuss the various component of developed Financial
System.
DEOBOAT ;sba:gomgt TWADI. ORTO BROOT BeaBoR> [ILOD HAG worne 21t BeseA.
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